Complete the first quadrant portion of the unit circle below. Simplify all answers. SCORE: /8 PTS

Inside the circle, label the radian measure of each point. (2 POINTS OFF
OQutside the circle, label the corresponding X — and ) — coordinates of each point. . FOR EACH ERROR)

(0,1)

Let 6 = —IST” . Fill in the blanks below. Simplify all answers. SCORE: /11 PTS
[a] 0 is coterminal with ) radians. NOTE: Your answer must be between 0 and 27 l am o, Lot
[b] The reference angle for & is P radians.
[&]

[c] cotd = O S

- o
[d] cscld = } S
Suppose COSE= —% . Fill in the blanks below, Simplify all answers. SCORE: /13 PTS

[a] The reference angle for f is i radians.

[b] ¢ could be in quadrant(s) 2 on 2 .

SY N 2
[c] The possible value(s) of ¢ is (are) —EL Ov2. “45' . [NOTE: Your answer(s) must be between 0 and 27 |




Prove the identity (3+cot?)(3—cot¢) =10—csc’¢. SCORE: /10 PTS
= Gi - c/o+ e
= q - (cgert-))
= 10-cact

Let ¢ be an acute angle such that ¢8cf = % . Fill in the blanks below. Simplify all answers, SCORE: /8 PTS
[a] Draw a corresponding right angle triangle, and [abel the lengths of all sides. n

—1@ o N Y ‘ - \! o = ‘gl“é’@f
[b] fant = <2 . 4@ rf :

N i3 -
c] coSt = g . 42 -

©402]
Let & be an angle such that cos & = @ and sin & = —2 . Fill in the blanks below. Simplify all answers. SCORE: /12 PTS
- N -
[a] cscf = 3 : -%—
24d Cog @

[b] cos(—f) = = Ly

eV -5 . -3 4d
[c] tan@ = 20 . 260 200 2>

-2 ced

[d] sec(5—-0) = 2 C<e
Suppose sect = % and sin¢ < O, Fill in the blanks below, Simplify all answers. SCORE: /10 PTS

[a] ¢ is in quadrant

4 . X?O)j40

[b] Find the value of tan{ using identitics, not triangles. NOTE: You must show the proper use of identities to get full credit)

""Zu;, f"t = Sﬁ?—c?" t...-- ]
= L |

28 7
= Bk
25
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SCORE: ____ /6PTS

Fill in the blanks.
275
[a] An angle of IBT” radians has a reference angle of s radians, 5%7
eﬁ@i’
[b] csc(—17.8) = [ 153 . Round your answer to 4 decimal places|
SCORE: /12 PTS

A merry-go-round is spinning at 15 revolutions per minute,
and its outer edge has a linear speed of 600 feet per minute,

[a] Find the angular speed of the edge of the merry-go-round, and the radius of the merry-go-round,
JShow proper work, State the units of your final answers. Round your answer to 2 decimal places)

IS pevoLuTiais = 15 Dm% = 2072
Ly = A07*
MINUTE 50 _
- = M = CROFT  Mpwrt
VErW = = e S e = 29 0 o LaTer
MwsTE 305 R 7

[b] A sector of the merry-go-round was painted red, and had an area of 68 square feet. Find the central angle of the red sector.
|Show proper work. State the units of your final answer. Round your answers to 2 decimal places|

)

oF - %’% . 2(6‘8?1‘? . 725R
(63Ter)

A funicular transports passengers from the entrance of a cave to the bottom of the cave along an inclined track. SCORF: /10 PTS

The bottom of the cave is 287 meters to the east of the entrance, and is at an angle of depression of 28" from the entrance.
How long is the funicular’s track ? [Show proper work. State the units of your final answer. Round your answer to 2 decimal places)

cos 28> = 2Bla . 287 m
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